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A) very nch man
B) last week
C) right across the street
D) extremety tired in fact
E) to the light house
3. I out the book on the table
Which of the following
underlined phrase?
A) VP-3VNP
B) VP4VAdvP
C) VP-)VNPPP
D) VP-*VNPNP
E) VP-3VAd1PN
A) bake the cake carefully
B) my beloved sister
C) an excellent person
D) thoughtful behavior
E) extremely happy
6. Which one of the
recursion?
A) meet his friends in his office tomouow
B) took the book from the library
C) put the letters in the drawer neatly
D) sends me cards from Italy regulariy
E) saw her again
2013 GÜZ DONEIÅ SONU 2553-A
Which one of the following sentences has
undergone fran ıformation?
A) love my husband.
B) I am going to school.
C) Aletterwas sentto you
D) lcanswım5 miles
E) I saw her at the airport
2. PP PNP
Which one af the following would be
generated by the phrase structure given
above?
A
represents the
7. Everybody loves myself,
He completed the whole work by themselves.
Why are the above sentences Ill-formed?
A) There is no agreement between the verb
and the noun
B) They are acceptable in spoken English
C) The category of gender is missing
D) The categones for nurrter and person
disagree
E) The reflexive pronouns must be replaces by
proper nouns to correct the sentence.
8. Which one of the following phrase structure
rules generates the bracketed form In The rat
[ate the cheeseJ ?
A) VP-3VAdJ P
B) VP4NPVP
C) VP-*VPP
D) VP4DetN
E) VP-3VNP
9. Structural analysis ot a language requires
A) descritìon ot mental grarar
B) an inve5tigabon ot distribution of foirris in a
sentence
C) prescnpbon of the proper use of forms in a
sentence
D) correction of students’ errors
E) investigation of the differences between
spoken and written forms
10. VP4V(NPI(Adv. P)
Which one of the following phrases cannot be
generated by the phrase structure rule
above?
, A descriptive grammarian aims at
A) descnbing the regular structure of a
language as it is used
B) descnbıng the correct use of structures
C) prescribing the proper use of structures in a
language
D) setting the rules of language usage for
educabonal purposes
E) prescribing the plionotactics of a language
5. Which one of the following is an adjective
phrase?
following includes
A) David knows that John left yesterday
B) One of my mends attends to tango lessons.
C) The man hit the child with an umbrella
D) The woman in red is looking at you
E) Nobody wants this house.
ıl. Which one of the following best describes the
conshtuent structure of the sentence The
audience loved the show?
A) S (NP[artl][VP[Nj[VP[V][NP
I art N 111
B)S INPIartNpJ!](VPIVartIINPI
NJ])
C) S [NP(artNJJ[VPIV pastart)I
NP I N I))
D) S [NP(artNJ][VP[V)(NP(artN]
11
E) S (NP(artNsıngJJ[VPVartNJJ
7
izleyen sayfaya geçiniz.]                                                                                 
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A
12. Representing the hierarchical organizations
among the phrases of a sentence requires
A) Structural analysis
B) Immediate constituent analysis
C) Tradional analysis
D) Prescnpbve analysis
E) Phonological analysis
13. To produce well4oimed sentences in a
language, we need to know
A) the meaning ot words
B) the derriıatıonal rules for word formation
C) the structure of phrases and sentences
D) the phonotactics
E) the context of sentences
14. WhIch of the following sentences Is 
correct for a prescriptive grammarian?
A) I want to finish this quickly.
B) I would like to easily finish my homework.
C) Shewantstofinıshearty
D) She wshes to go home
E) He told me to finish this early
15. Which one of the following ii a constituent in
“Sh. wears a beautiful red dress’?
A) she wears
B) wears a beautiful red dress
C) a beautiful red
D) she wears a beautiful
E) wears a beautiful
16. The purpose of structural analysis is to
describe 
A) the meanings of words in a language
B) the structure of words in a language
C) the distnbution ot fomıs in a language
D) the structure of tree morphemes in a
language
E) the phonotactics of a language
17. Generative grammar claims
that
A) we generate a rule for every single sentence
produced
B) grammar is based on the knowledge of
morphology
C) syntactic structures represent the meaning
of words
D) we can generate an infinite set of sentences
by a finite set of rules
E) grammar knowledge helps us produce
contextually appropriate sentences
18. Identify a constituent in the sentence ‘His son
bought a beautiful car for him last year.
A) bought a
B) carfor
C) him last year
D) hisson
E) a beautiful
19. Which one of the following bracketed forms ii
anAdv.P?
A) John works [very hard]
B) He came Iwith John]
C) lsaw(averygoodfıim
D) He is a (very hard-working boy.
E) John works (for a big companyj
20. Which one of the following 1*  an NP?
A) famous
B) them
C) girls in the garden
D) pulp fiction
E) sustainable growth
TEST BİTTi.]                                                                                                 

























[image: C:\Users\NURAY\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\Yeni Resim (1).png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image011.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image012.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image013.png]
[image: C:\Users\NURAY\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\Yeni Resim (2).png][image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image014.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image010.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image011.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image012.png]
[image: C:\Users\NURAY\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\Yeni Resim (5).png][image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image013.png]
                            [image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image011.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image012.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image013.png]
[image: C:\Users\ELVAN\AppData\Local\Temp\msohtmlclip1\02\clip_image014.png][image: C:\Users\NURAY\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\Yeni Resim (6).png]
                                                  
image5.emf

image6.emf

image7.emf

image8.emf

image9.emf

image10.emf

image11.emf

image12.emf

image13.emf

image14.emf

image15.emf

image16.emf

image17.emf

image18.emf

image19.emf

image20.emf

image21.png
DILBILIM |

2013 GUZDONEM SONU 25534

1

Which one of the following sentences has
undergone transformation?

A) 1love my husband.

B) | am going to school.

) Aletter was sentto you

D) I can swim & mies.

E) I'saw her atthe airport

PP PP

Which one of the following would be
generated by the phrase structure  given
above?

A) very ich man

B) last veek

C) right across the street

D) extremaly tred n fact

E) tothelight house

1 put the book on the table.

Which of the following _represents ~the
underlined phrase?

A) Ve VIR

B) VP> VAN P

©) VPV NPPR

D) VP VNP NP

E) VP 3 VAGPN

A descriptive

grammarian  aims  at

A) describing the regular structure of a
language os tis used

B) desoribing the correct use of stuctures

) prescribing the proper use of stuctures in a
language

D) setting the rules of language usage for
educational purposes

E) presciibing the phonotactics of a language

Which one of the following is an adjective
phrase?

A) bake the cake carefully
B) my beloved sister

) an excelient person
D) thoughttul benavior
E) extremely happy

Which one of the following
recursion?

A) David knows that John left yesterday.
B) One of my fiends attends {0 tango lessons.
C) The man hit the chid with an umbrella

D) The woman n rad is ooking at you

E) Nobody wants this house.

includes

7. Everybody loves myself.

He completed the whole work by themselves

Why are the above sentences ill-formed?

A) There s no agreement between the verd
andthe noun

B) They are acceptabie in spoken Engiish

C) The category of gender is missing

D) The catagories for number and parson
disagree.

E) The reflexive pronouns must be replaces by
proper nouns o correct the sentence.

8. Which one of the following phrase structure
rules generates the bracketed form in ‘The rat
[ate the cheese] 7
A) VP VAYP
B) VP3NP VP
©) VPIVPP
D) VP> DetN
E) VP VNP

9. Structural analysis of a language requires

) descripton of menal grammar

B) an investigation of dstribution of forms in a
sentence

©) prescripton of the proper use of forms in a
Sentence

D) correction of studerts errors.

E) investigation of the diflerences between
Spoken and writen forms

10,93V () e 7)
Which one ofthe following phrases cannot be
genersied by e phrase strucure. rule
Shover
) meet s iends i his offc tomortow
B) 100k the book ram e brary
)t ne o i hecrauer ety
5) Soncs ma carcs o il gty
2] Sow her agan

11. Which one of the following best describes the
consituent structure of the sentence “The
audience loved the show"?

A)S  [NP[ar]][VP[N][VP[V][NP
TatNITl

B)S  [NPRNPUI[VPIV at][NPI
NI

€S [NP[atNII[VP[Vpastart](

NPINITI

D)S  [NPLatNII[VP[VI[NP[atN]
1
E)S  [NP[atNsing]][VP[VartN]]

Izleyen sayfaya geginiz.
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12, Representing the hierarchical organizations
among the phrases of a sentence requires

) Structural analysis.
B) Immediate constiuent analysis
C) Traditonal analysis

D) Prescrptive analysis

E) Phonological analysis

13.To produce wellformed sentences in a
language,  we  need  to  know

A) the meaning of words.
B) the denvational ules for word formation
C) the structure of phrases and sentences
D) the phonotacics

E) the contex! of sentences

14, Which of the following sentences is not
correct for a prescriptive grammarian?
A) I want to fnish this quickiy.
B) | would ik o easlly finish my homework.
C) She wants to finish early.
D) She wishes to go home
E) He told me o finish this early.

15, Which one of the following is a consituent in
“She wears a beautiful red dress” 2
A) shewears
B) wears a beautiul red dress
) a beautfl red
D) she wears a beautful
E) wears a beautiul

16. The purpose of structural analysis is to
doscribe......... .
A) the meanings of vords in a language:
B) the siructure of words i a language
C) the distrioution of forms in a language
D) the stnucture of free morphemes In a
language
E) the phonotactics of a language

17, Generative  grammar  claims that

A) we generate a rue for every single sentence
produced

B) grammar is based on the knowledge of
morphology

©) sytacic suchres rpresen the mearing

D) we can generate an infite set of sentences
by a finte setof rules

E) grammar _knowledge helps us  produce.
contextually appropriate sentences.

18, Identity a constituent in the sentence ‘His son
bought a beautiful car for him last year'.
) boughta
B) carfor
€) him st year
D) his son
E) 2 beautitl

19, Which one of the following bracketed forms s
an Adv.P?
A) Jonn works [very hard]
B) He came [with John]
) I saw(a very good fim].
D) He's a [very hard-working] boy.
) John works [fora big company]

20, Which one of the ollowing is ot an NP?
) famous
8) them
©) gris nthe garden
D) pulpfiction
E) sustainable grouth

TESTBITTI
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.

Which one of the following does not includs a
hedge?

A) 1 think this i the conrect answer.

B) As far as | know, they are coming tomormow,
moming

©) He's a wel-known scientit. Camect me if 'm.
wrong.

) I'm not quie sure, but he must be a
succossful player.

E) 'm sure that the exam wil be dificul.

A Would you ke to drink some more tea?
5

Which one of the following answrs to the
question above includes an implicature?

A) Yes, why not?
8) Of coursel

©) T've had to0 much tea. Thank you.
©) No, thank you.

E) 1 don'twant more tea

“However'is an example of a

A) conversation tie
B) coherent device
©) soeech event
D) cohesive tie
E) tum taking

Redused amount of spesch and sggramatc
speachis the symptom of

) Broca's aphasia
B) Wemicke's aphasia

©) Conduction aphasia
©) Anomia

E) Problem i the right ear

is the impairment of
function because of localized brair

language
damage.

A) Motor cortex
8) Aphasia

©) Tip of the tangue
D) The criical perod
€) Broca's area

"

A

6. Which language family does English belong
07

A) Gemanic
8) Caltic
©) talic
) Hellenic
) Savc

7. Mother : Did you finsh your homework?
Otherwise, | won't allow you to play
wih the compuer.

Chid : Yes. Idd it

In the dialogue above, the child says Yes' so
that he can play with the computer although
he did not finish his homework. Which maxim
does the child violate?

A) Quantiy
8) Quaity
©) Relation
©) Manner
E) Cooperative

3. Obaying or ignoring different conventions of
. characterizes the participants of a

Conversation as rude or shy.

A) Grigean maxins
8) speech events
©) coherence

D) tm-aking

E) completion points

9. Human infants leam a language through the
provided by older children o

adite

) imitation
B) overextension
©) input

©) overgeneralization
€) telegraphic-speech

Izleyen sayfaya geciniz.
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0. 'She no come here"

A child who produces the utterance above is
inthe. stage of forming negatives.

A) thid
B) fist
©) fouth
©) final
E) second

na The phona is inging.
B Tmin the bath,
A

ok

In the conversation above Bs utterance
conveys ...

) an impleature
8) a cohesive device
©) coherence

) hedge

€) scipt

12. Which one of the following pairs is not an
example of cognates?

A) schoolischule
B) universiyl universieit
) tolovsion / televizyon
D) kol /igk

€) amigolamico

13. The term “dialect” refers to differences. in

A) grammar and vocabulary
B) grammar, vocabulary, and pronunciation
©) speling

©) pronunciation

E) vocabulary and pronunciation

2

.

.

16.

.

i

A

A Turkish learner of English says 1 reading
ko' instead of 1 like reading’. Which one of
the following can be true for this learner?

A) He can produce comprehensble and
comet outpu.
8) He has instumental motiation 1o leam

Englih.

©) He received sulficient amount of input in
English.

D) He s leaming English through taskbased
leaming

) He is making a negative tansfer from
Turkish to English

Mark is a thres-yearold American child. He
uses fools instead of faet, the plural form of
foot This is an example of ..

A) overgeneralzation
8) overextension

) telegraphic speech
©) cooing

E) one-word-stage.

Recognizing sounds, words and phrase
structures are accomplished with the right
oar and left brain. This s called .............

A) sl of the ear
8) tp of the tongue
©) the right ear advantage
©) sip of the tongue
E) the crical advantage.

From 1400 to 1600, the sounds of English
the

undorwont a substantial change. What i
torm used for this sound change?

A) Sound loss
B) Historical sound transformation
©) Consonant variation

D) Groat vowel shift

E) 0ld English sound system

Ali always says ‘they goes to.
they goto...." This error

A) fossiized
B) negotiated input
©) foreigner talk
D) interianguage
) astrange mistake

Irleyen saytaya gecinz
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19. In an area most people
another area most people say ‘slick’ to refer
1o the same object. With regard to this one
particular item, we can draw alan
between the two areas.

A) standard language
8) accent

©) dilectolagy

©) dialect boundary
€) isogloss

2.In a reading lesson, befors reading a
passage about supermarkets, the teacher
‘asks the students to describe a supermarket,
what type of things a supermarket contains,
etc. The teacher is activating the students’

) hedges
B) speech events

©) schemata (schemas)
D) implicatures

E) co-operative principles

21. There may be diflerences in the language
used by lawyers and linguists because those
Variotios are differentin.....

A) accent
8) register
©) presige
D) syl

E) dialect

2 “station” is _pronounced
in Turkish. Which phonological
involved in the Turkish word?

A) Sound loss
B) Phonalogical change
©) Metathesis
©) Prothesis
€) Epenthesis
S in

Germany,
Gorman. What kind of a speaker is he?

can speak both Turkish and

A) Cortainly using standard German
8) Monolingual

©) Monodialectal

©) Bidialectal

€) Biingual

A

2. Jake  : Give me your e-mall Il send you the
documents.
Mark 1 Of course. By the way, I'm the owner
of the company.
Jake : Oh, somy! Could you please give me

youre-mail?

What can we say about Jake's speach?

) He used slang
B) He has high presiige.

) He made siyle-shit.

D) Ho used technical terms.
E) He used colloquial language.

25, Botween the Upper Midwest USA. and the
Southern Midiand, different words can be
used at east for 3 items. In this case, we can
draw alan between these areas.

A) dialect boundary
B) isogloss

©) nom

D) diglossia

E) post-craole continuum

2. What does Sapir-Whorf Hypothesis suggest?

A) Every language expresses the time
concepts in the same way.
B) Diferences in language stnucture leads.

peoplo 1o view the worid diferently.
©) Language does not affect how speakers
s06 and interpret the events.
) Every language has social categories.
E) Notallanguages have kinship terms.

2. Words such as ‘grandiather’, mother’, ‘sister’
are examples of -

A) backchannel
8) pich

©) social categories
D) cogniive categories
E) TV distinction

Irleyen saytaya gecinz
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2. In Turkish, the distinction between male
parent's mother (babaanne)

and fomal
parent's mother anneanne' s .. .

A) Tinguistically mativated
B) grammaticalzed

) a variation based on gender
D) accent based

E) lexicalized

2. Doctor, do you think | il get well tomorrow?

What is the term used for the word ‘Doctor' in

A) Agendered word
B) An address term

©) Aword of respect

) Akinship term

E) Anonexicalized concept

3. Modifying speach towards the perceived
style of the other speaker is called

A) slang
8) jargon

©) taboo tern

D) speech accommodation
E) register

31 "I language determines thought, then we think
n the categories provided by our language.”

This idea is called.

A) linguisic elativity
8) socil categorization
©) linguisic category
D) culture

E) linguistc deteminism

32 [hl-dropping and pronouncing -ing with [n] are
examples of

A) jargon
8) social markers
©) convergence
©) dwergence
E) idolect

“

38 African  American

English (AAE) is an
example of . .

A) cover prestige
8) accent

©) styleshiting
D) vemacular

E) pidgin
3. Teenager | cantwrio it Si.
Teacher : Coma on! Pleas look at how I'm
witing . Of course, you can do i.
Toenager Lok, | cannae wrle .

What happened in the teanagers” speach is
called as

A) divergonce
8) overt presiige

©) regional dialect

©) convergence

E) reducing social distance

35. When a pidgin becomes the native language
of a community, itis called ..

A) language planning
8) the decreolzation
©) acrole
D) alexfier language
) an accent

Irleyen saytaya gecinz
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1A child says foots' for feet. This is an 6 Therefors’ is an example of
example of
) cohesive tie
A) imitation 8) script

B) overexiension
©) telegraphic speech
D) overgeneralization
E) chiddrected speech

Which of the following suggests that specific
aspects of language are processed in
specific locations in the brain?

A) Localzation view
B) Wemicke's area

©) Neurolinguistis

D) Lateral dominance

E) Posteror speech cortex

Study of the relationship betwaen tha brain
and the language is called..........

A) lateralization
8) neuminguistics
©) spoonerism
D) pragmatics
E) malapropism

©) speech event
D) conversation tie
E) coherence

The pair birader/bother is an example of

A) protoform
B) extemal change
©)  indic word
©) cognates
E) metathesis

A: Did you receive a good grade?
B o

Which answer o the question above has an
implicaturo?

A) No, 1did not
8) Unfortunately. no.

©) Yes.Idd

D) Ireceived 2 out of 100

) 1do not know the results yet.

9 The oo maxim requires the
. Discourse analysis deals with .... ‘speaker 1o be brief, clear, and orderly.
A) the study of language in texis and A) cooperaiive
conversation 8) qualy
8) speech sounds ©) manner
©) constiuents D) relation
D) conceptual meaning E) quantty
E) descrbing structure of phrases
10. Emphasis on memorisation, vocabulary lsts,

.. allows us to distinguish texts that
make sense from texts that do not makes
sense

A) Co-operative principle
8) Completion points

and witlen language.”

The characteristics above are related to the
concopt of

A) acquisiton barrers.
B) grammar-transiation method

) Cohesion ©) communicalive approach
D) Goherence ©) audioingual method
) Tums E) affective factors

Izleyen sayfaya geciniz.
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11. A DId you ko your now classmates?
B: Oh! This dress looks very good on you

B violates the. maxim.
A) quantty

B) implicature

©) relation

©) manner

€) quaily

12 1fwe hear someone describe what happened
during a visit o a pharmacy, we don' have to
b told what s normally found in a pharmacy.
This is because we already have a pharmacy
- as a part of our background
knowisdge.

) schema
B) impiicature

©) completion point
D) wm

E) tmiaking

13 A : Wnere s the Anadolu Univarsily campus?
B : I'm not absolutoly sure, but | think it is in
Topobas:

In the

above dialogue, B's utterance

A) is incohesive
B) contains filed pauses
©) contains a hedge

©) violates grammar

E) is not coherent

14. In OId English, the word food meant meat.
Today, the word food refers to any kind of
odible substance. This language change
process is known -

A) prothesis
B) majoriy principle
©) broadening

D) synchronic change
E) narowng

1.

.

.

.

Pronunciation of irpik' as i
example of .

an

) language death
8) narmoving
©) prosthesis
D) broadening
E) metathesis

The terms. and are difforent in
that tho latier refors to differences in
‘grammar, vocabulary, and pronunciation.

) accentidialect
8) social markerjargon
©) dialectisogloss
©) pidgin/accent
E) social markeridiolect

From 1400 to 1600, English underwent a
substantial change in vowel sounds. This is
called". .

A) The Great Vowel Shift
B) Word reconsinuction

©) Sound reconstruction
©) Sound loss

E) The Gemanic Famly

. is used as a language when a
pidgin becomes the first language of a social
community.

A) Lexifier language.
8) Creole

©) Decreolization

D) Language planning
) Accent

In Turkish, the distinction between father's
"haia’ and mother's sister Yeyze'

A) dapends on the accent

B) is loxicalizod

©) does not
foature

D) does not exist

E) have the same meaning

have any common  semantic

Irleyen saytaya gecinz
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2. o drink milk

A child who produces the utterance above is
inthe. stage of forming negatives.

A) st
B) second
©) thid
) fouth
E) final

2 states that language determines.

thought.

A) Sociolinguistis theory
B) Social categories

©) Classiters

D) Kinship tems

E) Linguistc doterminism

2. Ayso always says 'she bringed her bag'
instead of ‘she brought her bag:. This is an
©XAMPIS Of .

A) baby talk
8) foreigner tak
©) interlanguage
D) fossilzed eror
E) negotiated input

2. Which one of the following cannot be a

A) Simple sontence siucture
B) High tempo without pausas.
©) Frequent use of questions
D) Exaggeraled ntonation
€) Extra loudness

tion of ‘sportif as
s an example of

‘isportifin

) delotion
B) broadening
©) narowng
D) motathesis
E) prothesis

2

A

A person, who migrates o a diflerent country
and wants to be an accepted member of that
society, also wants 1o learn their languago.
What can be said about his/her language
learning?

A) He is lsaming through tasi-based leaming

B) He doos not have grammatical
competence.

©) He has itegrative motvation 1o leam the
new language.

) He cannot use communication strategies.

E) He has fossiized erors.

There may be diflerences in language used
by doctors and businesemen because of
those languages are differant in

A) siang
B) dialect
©) sty
D) register
) presige

Professor, do you think | can pass this course?

above, the word ‘professor’ is
(o)

A) gendered word
B) Kinship term

©) non-exicalzed concept
©) non-countabe flem
E) address torm

the study of the relations!
g0 and socioty.

betwoen langua

A) Sociolect
B) Discourse

©) Dilect

D) Sociolnguitics
E) Accent
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a1

A Turkish student pronounces the word ‘thin’
a8 "hin/ instead of /onl. This is an example of

) positive ransfer
B) negative transler

) regotiated input

D) incomprehensible outpul
E) telegraphic spooch

Ifa speaker uses a style to emphasize social
distance between him/her and the listener, it
is called...

A) socil variat
B) covert prestige
©) speech accommodation
D) linguistic variable

€) dvergence

Which one of the following is in the same
language family as English?

) Korean
B) Turkish
©) Danish
©) Chinese
E) Arabic

When talking about a person who speaks two
languages, which of the following concept
would be relevant.........

A) standard language
B) accent

©) dalectalism

D) bidlectalism

E) biingualism

According to  Sapir-Whorf  hypothesis,

A) social organizations are very mportant in
languages

B) the language we use shows the way we
perceive the worid

©)  the use of tag questions invites agreement

D) diforont classes of words are marked
differently across languages

€) women produce more backchannel than
men

A

A

an English is an example of

Speech _accommodation
speaker s

A
8

©
o)

)

siye shifting
siang
taboo term.
idiolect
vemacular

occurs when a

using cognates or borrowing words
using 1aboo terms while gving a spesch in
2 formal environment

modiying his speech towards the perceived
sty of his nterlocutor

using Jargon when it is not necessary to do
so

using oral register rather than witen
rogister
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Which one of the following views on the
source of language is compatible with the
innataness hypothesis?

) The natural sound source
B) The divine source.

©) The genstics source

D) The socia mteraction source
E) The physical adaptation source

What is the place of articulation of the initial
sound of the word ‘mother?

A) Biabial
8) Palatal
©) Dental
©) Velar

) Aweolar

Which one of the following words begins with
a nasal sound?

A) oven
B) Knowiedge
© can

D) Those

E) Cheep

Which one of the following words begins with
a glottal sound?

A) Chance
8) Right
©) Thaught
©) Who
) Round

Which one of the following words includes a
consonant cluster?

A) Down
B) Common
©) say
D) Table
) Through

"

5

A

Which one of the following word sets includes
the allophones of the phoneme /77

A) Eighth, although, throat
8) Time, tough. tongue
©) Thief, thank, sioth

©) Touch, tern, dance

E) Task letter, tght

The word handball /handboll can also be
pronounced as /hmmball. The second
pronunciation is an example of ..

A) assimiaton
B) nasaization
©) eiison
D) aspiration
E) flapping

‘Camcorder' is a word which is formed by the
words ‘camera’ and 'ideo recorder. Thi
word formation process is an example of

) compounding
8) cipping

©) backiomation
©) blending

E) conversion

‘Wnere's my chem book?
‘Chem? What does it mean?

Cromisty.

O It on the tabie. | co not undersiand
the meaning of the word ‘chem’ since il
involves.

ro>

&) conersion
B) cipoing
©) o nix
D) e acronym
£) the domvaton
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1.

.

Which one of the following is correct for the
word ‘stpermarket in Turkish?

A) Aconym
8) Cipping

©) Bomowing
©) Deriation
€) Conversion

Which one of the following words doos not
include an inflectional morpheme?

) said
B) Stengthen
©) Highest
D) Helping
E) Marks

Which one of the following is a free functional
morpheme?

A) Teach
B) cat
©) But
) Pre-
E) ness

Which set contains all allomorphs of the ‘past
tense’ morpheme’

A) Stayed, sa, called
B) Robbed, stayed, kiled
©) Sang, read, swam

D) Stayed, changed, kicked
E) Tied, danced, starred

‘Ayse himselt forgo the book

This is an error made by a learner of English.
This agreement error is related to .

A) gender
8) person
©) volce
D) tense
E) number

A

2

1.

1.

.

1.

A

Which one the following is a constituent
structure of the sentence above?

“The angry man reprimanded the i loudly."

A) The angry man reprimanded
8) angry man reprimanded the gl
) the git loudly

©) angry man reprimanded the

E) The angry man

She is dring fast.

the part of speech of the underlined
world in this sentence?

A) Adverd
Adjoctive

©) Noun

©) Preposiion

E) Pronoun

Which one of the
includes reduplication?

following  sentences

A) Bu pek gizel dedil, begenmedim.
B) Yeni evierigiizelce bir evdi

©) Hadi giizel gizel sdevini yap.
D) Eh fena degi, guzel g

E) B elbise Gok gizel.

s
N\
\p
N\
v e
N\
7 e
N\
MoN

Which one of the following sentances is
represantad by the tree diagram above?

) He wrote the book in the lbrary.
8) She spent the whole day wi frends.
©) The man fell down.

D) They went into the big house.

E) She ran after the chid
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Which one of the following is the deep
structure of the sentance above?

A) It was Jake who stole the bracelot.
B) Jake siole the bracelet.

©) Did Jake steal the bracelet?

D) The bracelet was stolen by Jake.
E) The bracelet was not stolen

Which sentence contains recursion?

A) The tutor was thought about by the
student.

B) Her wlor wil go for a conference next
month

©) Was the tutor al the universiy?

D) She thought that her tulor was i the
buiding at the universiy

E) What did she think about the tutor?

Which one of the following phrases has
structural ambiguity?

A) Allcats and funny dogs
B) Funny cats and dogs

©) Funny cats and funny dogs
D) Allfunny cats and il dogs
E) Funny cats and all dogs

They saw that Mary was happy.

Which one of the following is a complement
phrase (CP) in the sentence above?

) that
8) Mary was happy

©) Theysaw

D) They saw that

E) that Mary was hapoy

The child broke the window.

What is the semantic role of the child'in the
sentance above?

A) Agent
B) Experiencer
©) Instument
©) Theme
E) Pationt

A

A

Which one of the following words s represented
by the semantic ealures below?

[+ animate, +human, Sfemale, +adulf]
A) Table

8) Woman

©) Man

) cat

E) Flower

What is the relationship between the words
calculate-computs 7

) Polysemy
8) Antonymy
©) Metonymy
) Synonymy
) Hyponymy

What is the lexical relation between the
words vegatable-cucumber?

A) Metonymy
8) Antonymy
©) Polysemy
) Synonymy
E) Hyponymy

The pair rightwrong is an example of

A) superordinat
8) non-gradable antonyms
©) cohyponyms.

©) homophones

) antonyms

Which ane of the following words can be the
prototype of bird?

A) Dove
B) Peacock
©) Chicken
©) Penguin
E) Bat
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The school s on the ght.
Iagree wih him, he s fant,

The occurrences of the word ight in those
sentances are e

A) homophones
B) synonyme
©) antonyms
©) homonyms
E) reversives

When vill he finish his homework?
Which speech act is the speaker performing?

) Promising
8) Informing

©) Questioning
D) Requesting
E) Commanding

We saw a big aiplane
Aines.

It belongs o Turkish

What is the antecedent in the sentonce
above?

A) Turkish Attnes
B) saw

© we

D) abig arplane
B it

ing utterances shows
solidarity and draws attention to a common
goal?

A) 1 know you are busy, but could you please
do that?

8) Yourwatch fn' working

©) Giva mo thal paper, mmediatoly!

©) 1 am busy now. Come back ter

£) We botn have simiar homewor. efs 4o &
ogether.

. Which one of the following sentences.

includes temporal deixis?

A) 1 was in London last year.
B) Putthe book here. please.

©) Itisinthose large boxes.

D) There are three cars near the house.
E) They called him and lot the room.

A

“

A

34. Which one o the following requires inference

from the hearer's part?

A) The kichen of the house is small.

B) Allwlbe in lstanbul at 5 o'cock

©) You can boow my Chomsky.

D) The student asked Mary 1o bing her book
o her.

E) Ahme faled in the English exam.

Which one of the following sentences does
Dotinclude a presupposition?

A) 1 was diiving fast when the police saw me.
8) Do you have a car?

©) Your caris too ol

D) 1paid too much for the car.

E) Did you seli the car?

TEST BITTI.
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